Assignmemnt

Note :

B. Com. Semester-II

Business Mathematics and Statistics
(Code : 52411202)
MM.:100

Note : Answer may be written either in English or in Hindi;
but the same medium should be used throughout the paper.
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Attemnpt any two questions in all.
All questions carry equal marks.
Use of simple calculator is allowed.

(Write your Name and Roll No. on each page of your answer sheet.)

The maximum marks printed on the question paper are applicable for the students.
These marks will, however be scaled down proportionately in respect of the students of
regular colleges, at the time of posting of awards for compilation of result.

Q.1 (a) An amount of Rs. 4,000 is distributed into three investments at the rate of 7%, 8%

and 9% per annum respectively. The total annual income is Rs. 317.50 and the annual
income from the first investment is Rs. 5 more (han the income from the second. Find
the amount of each investment using matrix algebra.

(b) A wholesaler of pencils charges Rs. 24 per dozen on orders of 50 dozens or less. For

orders in excess of 50 dozens, the price is reduced by 20 paise per dozen in excess of
50 dozens. Find the size of the order that maximizes his total revenue.

(c) A computer is purchased for Rs. 50,000. It is estimated to depreciate at 10% per

annum every year. Find its scrap value at the end of 12 years.

Q.1 (7) 93 ¥ Tl 4,000 F1 F7T: 7%, 8% 3T 9% uf¥ =t fif 27 & i Faay 7 Fafa

(1)

(1)

orar wimaT 31 o a1iaS smg %1 317.50 ST 9ga o & anfds s 5 Qe g |
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Assignment

Q.2 (a) “Each average has its own special features and it is difficult to say which one is the
best”. Explain this statement.

(b) The mean age of the combined group of men and women is 30.5 years. If the mean
age of the sub-group of men is 35 years and that of the sub-group of women is 25
years, find out percentage of men and women in the group.

(c) The mean and median of a moderately skewed distribution are 42.2 and 41.9
respectively. Find mode of the distribution.

Q.2 (v) “ge= afrera &t st B9 R § o) a7 F=n gitee § & 9 ar a9 s
'l 3w Fit =T fifn)

(1) Tt S afgens F "W wyg & ofiwa g 30.5 99 g1 IfY Tl % Sv-ngg &
rea ag 35 94 g 3% Aigersi & SU-aHg i g 25 90 g, °7 GYF A [oul AT
wigerait &1 afaaa ra w4

(F) 7w e e & siwe ofit sfma e 42.2 i 41.9 81 Remor st ol s
$ifomg

3(a) After settlement, the average weekly wage in a factory had increased from Rs. 8 to 12
and standard deviation had increased from Rs. | to 1.5. The wages have become
higher and more uniform, after settlement. Comment.

3(b) Calculate the Karl Pearson’s coefficient of correlation from the following pairs of
values and interpret the result:

Values of X 12 9 8 10 11 13 7

Values of Y 14 8 6 9 11 12

(¥ ]

Q.3 (c) Distinguish between correlation and regression.

(d) The two regression coefficients are -2.7 and -0.3 and the coefficient of correlation is
0.90. Comment.

Q.3 (v) M9er F 918, TF @ | iad alies aa9 o949 4 9¢ 47 411 8 § 12 3}

HeE 9w 99 § 92 17 411 1 § 1.5 Fem § 9 wugdr afts i afgs
THT 21 7S 31 Feroqefy
() Fet F Rafafa sire & Frer s & ageay & s i ot 73 s iy §i

FTET F1
Y FTHH 14 8 6 9 11 12 3

() wgEEy i g & 9 sax
(€1) = wferae o -2.7 @i -0.3 § 3 Tgeey &1 o 0.90 g1 feoyofh
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Assignment

Q.4 (a) Construct Laspeyres, Paasche and Fisher indices from the following data:
Item 2018 2019
Price (Rs.) Expenditure (Rs.) Price (Rs.) Expenditure (Rs.)
A 10 60 15 75
B 12 120 15 150
C 18 90 27 81
D 8 40 12 48
(b) Fit a straight line trend to the following data and estimate the expected profit for the
year 2022. What is the average annual change in profit?
Year 2013 | 2014 | 2015 | 2016 2017 2018 | 2019
Profit (in lacs of Rs.) 60 72 75 65 80 85 95
Q.4 (v) e Ter & arevgT, w3 Ree =i @ [{wir 3
k- 2018 2019
oo Price (Rs.) | =0 Expenditure (Rs.) Price (Rs.) Expenditure (Rs.)
A 10 60 15 75
B 12 120 15 150
C 18 920 27 81
D 8 40 12 48

(@) Faff tor F P o @i @ @iy 1 e 91 8 9t 2022 F o smfta
AT FT AATH AT AT F 3ia Firds afad w7 8?

qrT

2013

2014 | 2015

2016

2017 2018 | 2019

e (F9Y «TE ®)

60

72 75

65

80 85 95
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